RURE

‘BRECESE

48 (3R) AAEERR

XAFHAFYIAF, 3A16H (K)TY, HHAEIA10BEH
X3 REH Bih| om% | 15% | 2% | 3m% | 45% | 5% | &5t| E K| mxnre i REE Bih| om% | 15% | 2% | 3%% | 4%% | 5% | & 5t| EE|mxmnn
N W < (FenA| 3 4 1 4 | 12| 17 0 F >~ %35 > K X % 0|58 6 3 9 |HY
L3N Py # 1 1 0 18 | 43m| 2 2 | 4 |®Y
ﬁ i iR BsnA| 4 2 1 1 5 13 | 16 0 Fyv XA UL AWK B| 78 0o |&Y *
= i £|6mA| 2 5 1 3 11 18 0 VEDLYAE -NL-LMM AR 48] 3 3 |A/Y
i i 3 1 5 1 10| 15 0 VEDbYFyR N -7 v IR| 438 4 4 | HY
” X £ o|6mA 2 1 3 17 0 )53 2 #lenA| 1 2 3 |H/Y *
2 | E[6nA 2 | 2|2 0 H M 2 A B Z| 8 0 |&Y
A& & el & 1 2 3 | 19 0 ®BlEg = = o O F 1 3 4 |EHY| *
ﬁ ' |snA| 7 2 1 10 | 19 0 g 1= e) 2] | 578 7 7 |BY
£ L3 15| 578 2 4 6 19 0 [ 0-n"BFyvRTEIRIBE SE 1 1 |8Y
P 17| 578 1 1 13 0 B |& < sls7B | 2 2 | /Y
Fls = o n Elewa| 1 3 6 1 11| 15 0 7 R Y k£ & 1 4H 2 2 | &Y
ﬁ F 17 E Br| 578 1 6 7 14 0 t &k B ¥ F o X|57H 1 1| HY
oAl [ Y [2) K|6n A 3 4 7] 14 0 1L WA /R EEBE L KRB A 1 1 |8Y
s is|6m A 3 1 4 18 0 ¥ & . A | 578 3 8 1" |AY| *
[ ] 4 3 1 2 4 | 14 0 ELDELCHD LN EE 1 5 | 13| 18] 32 [HAY| *
El A 1 3 4 1 LW A ®EBEENXER 8 1 1 6 8 | HY
+ |#& H E|[s7B| 4 1 4 6 | 15| 20 0 YV 3 R k& & b 8B58 1 1 |&/Y
ﬁ = K|svA| 2 5 10 | 17 | 19 0 -l #n|5m A 5 5 |HY *
# #| 578 8 8 | 19 0 = ) F|5nA 0 |HFY| *x
H & " Pl Z|60A| 1 1 2 15 0 F 3 A T E| o |HY
i ol FHlemA| 6 2 2 | 10| 18 0 o3 1 1 6 1 7 4 | 19
(i i HlenA| 4 1 2 3 | 10| 17 0 o3 E 4 3 7
CARAL(AHERE)| A 1 2 3 | BAY 0 M) —REVZAREMEIL—L| 578 2 2 ||y
"k T = T B|58 4 2 2 8 14 0 i ¥ 3 4 7 |ABY *
L] 4|6 A| 8 1 3 3 15 | 17 0 5 [ % 4 E| 578 2 2 |8y
& iB[enA| 4 3 1 4 | 12| 18 0 Bl L W2 & EEMEMNSHE 1 1| HY
& B F o 1F #enA| 2 5 1 8 | 15 0 iz >R B35y 451 E A 578 1 1 3 5 |AY| *
| B ¥ o < L|9B 3 5 | 2| 10 0 = 5 0 kil B g 3nA 1 1| /Y
g & B E 4+ & h|smA| 6 6 5 8 8 | 33| 17 0 L 5 S ¥| 578 o | &Y
Fldm8 & F I H Z[shA| 6 4 6 5 2 | 23| 14 0 FRUVOFZREEBETH | 58 o |&Y
ﬁ,‘g.‘_%qit}}teb\ﬁ 4 4 | 2 0| 15| o IF o X %5 v F i #om NIRRT
5 B ¥ < 3% #|518 3 1 1 5 14 0 Jga—nN)Lxy X g E| 578 o (&Y
B B F H v »HnA| 8 6 7 6 | 27| 19 0 V5 R bR E E A 0o |HFY|
m 85 ¥ & o #Fs5AB| 3 1 3 5 1 13 | 17 0 B ELHB L T FKE 578 4 5 14 | 23 | /Y
# Al I 8 7 9 7 1 32 0 T H ELH B R 5TE 1 13 | 14 [HY
& #t i 4 4 2 2 6 | 18 1 33 L N *(48]| 6 6 3 3 18 | HY
ISYAZS (ABRRE)| 40| 4 2 6 | AY 3 E —|snA| 4 1 2 4 2 | 18 |AY| *
ait 79 | 20 | 56 | 68 | 86 | 95 | 404 | 505 5 *® = B f}| 578 | 10 1 1 1 13 | Y
Ja-n"hE¥yvACRBE|STE| 3 1 1 1 2 8 |FY
i REE Aff| 0% | 17% | 27% | 87% | 47% | 5% | &t IE R | =xmrn il #lomA| 4 | 2 | 8 | 13| 8| 5 |40 |HY
fn z|emA| 5 1 1 7 | &Y VEDYFYR N -7 YK R 438 o |&Y
PN lemA 0 |AY| * VEDYFIR N -F UH WL 1 2 3 [AY| X
B8 4amA 1 3 4 | AY 3 |3 A 1 1 |HY
» ¥ 7 5| 438 1 1 2 | &Y R # 42 3mA o |HY
» L » L 438 | 3 1 4 | BAY VEDbYFIA N -7 vk 4| 438 0 [FY
A B o  F|sAE]| 2 1 IERED Blyszrm%mR sy E 8 [ E]
X B o F & 578 | 3 1 4 | HY qu A %| 578 0 [FY
N | 578 4 2 3 10 | HY * sl N ¥ + % =|nA 0 |HY *
3 BT| 578 | 9 2 | 11| &Y W o E L B %A 3 1 4 |HY
X Ww| 48| 5 1 1 2 9 | BY * STALYBREBVOUEHT Sh| 578 0 [FY
=5 Ly H W 578 o | AY AN xw % E R E E| A o |HY
I8 ) Fl43B| 9 2 1 12 |8Y| * EFoRHZSVFERIRLE78] 1 5 1 7 | /Y
RAE R AT E B A C|5A 1 1 2 | BHY| * IFoRB5VFRIFAHKE|S78 | 15 3 5 2 | 10| 35 |HY
H »n = 1+| 578 | 8 1 3 | 12 |HY| * FoRBSUFHRBANER|578| 2 1 6 3 | 12 [HY
#Eﬁﬁl | 438 0 | AY IF >R %5V FK K #E B 78 1 2 1 4 | FY
[P ES &l 578 | 1 1 2 1 1 6 | Y FRARHYUEEDLDAREBR®A| 1 1 |HY
# g | 578 | 1 8 2 | 11| AY| * GakkenEFWX AR L| 578 1 1 1 1 4 |HY
ﬁ%ﬁ%ﬁﬁ@}:m@ 5780 2 1 3 | /Y FYXAIANRBEINRTF| 578 | 1 1 7 | 11| 14] 34 |FY
ECDECH D L h AR B 578 | 1 3 4 1 9 | AY HE R F A L |88 1 1 |ABY| *
37ALYREEVUEEER & 578 4 1 2 1 8 | HY Gl £ & £ yls7a| 4 1 5 |HY
L0 REBSP KRB S7A| 3 1 2 3 9 | BHY h Z T|3mA| 1 2 3 | /Y
REBME O E B 6MA[ 1 1 3 5 | HY Z ™ NEE 3 1 3 14 | HY
AxybRE=TEHRBEE 578 0 | AY Z C n 25 BE| 438 | 1 1 |&Y
STALGREBOUEHIRE| 578 1 3 4 | BHY =] 1Bl 438 | 2 1 2 5 | BY *
VAU R %y X B K| 578 4 | 8 | 13| 15| 40 | &Y =B ] 2 B[ 438 | 2 2 ||Y
E<HECH B W KB STA| 4 1 5 1 | 7Y gg < Y 7| 578 8 3 1 1 4 17 | &Y *
ICLLWAREERB-TE| 578 | 2 2 3 13 | 20 | BY * ] ) c|43B| 3 2 5 | FY
ICLLAREEKRBE-TH| 578 | 3 2 3 2 5 15 | HY g Hh o =+ B Z|[4B8| 4 3 2 9 [HY
x in ] 7| 578 2 2 | BY 3 » i) 1z | 438 2 2 | /Y
HEKHBVRBEWTHE| 578 | 3 10 | 11 14 | 14| 52 | AY 7t E|5MA| 5 5 5 15 | AY *
ECBECH B W H I B 578 3 2 3 s | BY W2 R EEERSA| 4 1 1 6 | &Y
2 %| 438 1 1| 12 | BY B R ERBEEEIRBSE| 3 3 6 12 | /Y
ISLLWARBEEARFT-TH|578| 1 2 1 4 |HY
B &L H B L E R A 1 3 1 5 | /Y
B_E C & b E|AE| 0| 1m| 2| 3| 4% | 5% | SEHER S b ELH D \FAEAB|TE| 1 1| 3| 2] 3] 10][HY
2R E A4 bR H20A| 2 1 1 2 6 | HY &t 161 | 37 | 97 | 105 | 150 | 240 | 791
wRoEE R Y #E 0 -
TRRBALHIESEY 7 EHRE 0 KEXBRBCAT—IA20TNIMIE, EXRRBANTRMICEEAHIMTT .

XBECELMRRARHAMOBEICONTIE, RTIITVER A,
RRF RS HE D B B AALTZEL,




b RREESR 48 (3:R) AAZERKR

XAFTHAYAIK. 3A16R (K) T, SMAE3A10BEH
No.| HEERERIULESR AT Ain]| €8 | ®& No. INRBERE RS FR7E A | o | 1% | 2%
1 28 A% WIBE-TE |43H 2 1 1 [/MREREEN) - A RIBREER wiE—TH 578 | 1 0 1
2 Kig HOF KFNET 438 5 2 2 [[MRERBEEWREBE—TB/V-TREER wE—TH 8 3
3 HH IbF TREZEHT 438 4 0 3 |NEBRERE — D7 IREBEOREE wiE—TH 578 | 1 3 1
4 A HpE TRZEHT 430 5 2 4 [IMNABRRBERXRILSHI( V1 -TREE KiL&FHET  |[6MA| 0 2 0
5 e fEx R BT 438 3 2 5 [RILSZ/MREGREER KILIHET 6mMA| 3 6 0
6 B E=F KILIFEHRT 438 2 1 6 [Meisei/MNRIERTE wE=TH 3 0
7 BH &7 SEHT 438 2 2 7 [MNRERERXILERT(V ) -TREE KILIFEHET 6mMA| 0 3 1
8 BE fx AT 438 5 0 8 |[KILTERT/NMREGREER KILIFEHET 578 | 2 6 1
9 B FF X K&A—TH |438 3 1 9 [{MRERBEESIILSHREREKRILTER KILIFEHET 578 | 4 0 1
10 EE Y INER—TH | 438 5 0 10| A TORBEETIRE/NEERER PiRAE 6mA| 3 1 3
11 T2 B INEWRZTE | 438 5 3 1 KINELNREREER JKJIET 3 1
12 HE BT mE—TH |43H8 5 0 12| TAP—IMNREREE-ME meE 578 | 4 0 0
13 BE HF E®E=TH | 438 5 2 13 TILMRERER- ME meE 578 | 4 0 2
14 5 BT ERE=TH |43H 4 0 14| 7AIRE/NRBRER X#OLET |578| 3 6 0
15 EH BEF RHFET—TH | 430 3 2 15 | AT 42— )LINRRR BB P IRIE KeOdelr  |6nA| 1 1 0
16 %M fE RHFET"TH |43H 3 0 16 |55 DH/NER/NREREE INEIR—TH |60A| 2 0 0
17 hH BEX ®I=TH |438 5 1 17| ERIBZT BIREREE E®RIBZTH |60A| 2 0 1
18 ) T EHN_TH |43H 5 1 18| K TFTOREE LB/ NMNAIERER ERIBE-TH |40A| 4 0 0
19 afE BERE FE—TH |438 4 0 19 |U-ThE-TLELRNRABRREE mEBRE—TER|6MA| 6 0 1
20 A AT FELTH |438 3 0 20 /MRIERBEMRATZEREREE mEBRE—TBR|6MA| 5 0 1
21 W& A& RIFFET—TH |43R8 5 1 21 [IMRBRBEEE) 77 REEFEC - EL EwALZTH |6MA| 0 0 1
22 EAR T RIZFETAT B | 438 5 2 22 [IMEBRABEE — D7 RIBEARER EHA=TH 578 | © 0 0
23 BHME BAZ B#=THE |438 4 0 23 | AT ORBERIE/NIERER FE=TH |6MA| 0 0 0
24 =ZH ER BHR-TH |43 5 1 24 | IMNEBRBRSNHREE- FIF FIFWMTHE 1 0
25 @A SFY SSFEHETH | 438 3 1 25 |U-CAE > THRB/NREREE FEANTH [6H0H| 5 0 1
26 ME T E5FRETH |43R8 4 0 26 |/MEBRBEE—J7IRIBRFIISTRER |FEHFH=TH|578 | 2 2 0
27 NHE RF X E5F/\TH | 438 4 3 27 |9V AR B ERIS N REREE BiE—TH |[6mA| 3 6 0
At 108 28 28 (AT a—LINRERBERELTRE AIEET—TH [6MA| 1 3 0
29 |IREMIEE LB /NRERER AIEET—TH |6MA| 3 2 2
¥ BABEEFIL2RRISADHEE (0- 15 RITEHES) 30 [hE/NRERER mE—TH |60hA| 2 5 2
¥ WERERFIFI2RREISAOHEE OFKRITEMEHK) 31 oyt uNRBERER &#=TH |[6mMA| 3 0 0
32 |FEKENRIEREE TEIKET 7 2
No.| RE—IL—LAB FR7EHh Af| ®& | RB 33 |ER—TEH/NEEFRER HEH—TH |60A| 2 2 0
1 RBRAE ==L mE—THE |438 6 0 M |INRBRRBERELHTIHRER SERET 578 2 0 0
2| TFHREBACE-L-L |FIEHET=TH| 438 9 6 35 [ TLIMRERBEE RF=ZTH |6mA| 1 5 1
3 EFAE-I-A EA=TH |438 6 0 36 [/MRBERBEMRA7VIRBEESEHIRE NERZTH [578| 3 6 1
4| BIBETAt-L-L | BIBET=TH | 438 6 3 37 |B<BHY DB REBEER/NRERBE BEHR-TH 578 | 1 0 0
At 27 9 38 (AT a—LIMNRIERBEERES 55F—TH [60hA| 1 5 0
39 | ELDHTEESNMNIKREE 55F—TH [60hA| 1 3 1
BELCWIELABHYET, 4 RBEEERVEDYRER =5F/N\TH |3hA| 1 2 2
22 [B<RYDESLREESET/NRARREE =EF/NTH |578 | 1 0 1
&t 77 | 93 | 32
No. EEMANREFA FT7EHh A | o | 1% | 2%
1 |BEFMRREMTRHOIESREE hiE 578 | 2 1 1
2 [BEARETRERBAZE S —X)—IIL—L|ME—TH 578 | 2 0 0
3 |BEMNACYYIRER EARET 578 | 2 1 0
4 (WOOBENVEEEBEMNRER EZZN 6MA| 0 0 0
5 |BENUSLRER RIEBE=TH |578 | 3 1 0
6 |BERNIIL—FRE—RER ! 578 | 1 0 0
A&t 10| 3 1




